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o=t 95,020
Al 213,480
02 2teldl| 20,000 0 20,000
O HAESZ A 20,000
hag 14,000
o=} 1,800
Al 4,200
03 Al 204 Y| 2,000 500 1,500
O A= MEDLS SAMNZES S 2,000
g 1,400
& 180
Al 420
402 IV X0l M 168,000 0 168,000
Fag 117,000
= 15,000
Al 36,000
03 QIZ2HR[EFALS 168,000 0 168,000
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O &=c Mg XN& S 168,000
s 117,000
< 15,000
Al 36,000
aets FHAXNY MEHA HEZAY 742,900 0 742,900
ras 520,000
< 66,900
Al 156,000
201 Let2dE] 21,000 0 21,000
< 1,000
Al 20,000
01 At 22l 21,000 0 21,000
O &EZA0UIOIH s+ S 21,000
< 1,000
Al 20,000
202 O4dl 2,000 0 2,000
01 = LH 4 Hi 2,000 0 2,000
O dsts MESDtSAY =2 2,000
207 A O] 60,000 0 60,000
as 42,000
< 5,000
Al 13,000
01 289 60,000 0 60,000
O =paedstus s 60,000
s 42,000
< 5,000
Al 13,000
401 AIEHI L 2 0] 659,900 0 659,900
s 478,000
= 60,900
Al 121,000
01 A& Bl 659,400 0 659,400
O Dt2HZ2Y =8 E HdANEHA S 659,400
as 478,000
< 60,900
Al 120,500
03 A& S THHI 500 0 500
O tsts MESOSAMYE SME=s S 500
EHAE2AZHI (S AITHAD) 34,940 20,100 14,840
Jl2Z I (S AITH A 1) 34,940 20,100 14,840
JI23 8 (S AITHAS D) 34,940 20,100 14,840
201 L2l 31,700 16,900 14,800
01 At 22l 16,000 16,000 0
O EANMEHI=A LEI2Y 16,000
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N & O & AF Y A9 N A
2022 EOA LS 2E0SD ~ AMBED
2N ASTESD
Y YSHS
& Ms2dst =8 (chel & 9l)
SAE|
SAH-EB .S (3H) - HEAY - BE2 O Ak o8 il HD=2
R 26,423,085 17,117,461 9,305,624
= 610,000
7 2,000,000
Il 996, 964
[ 1,518,892
Al 21,297,229
Asxs 21,235,788 12,478,414 8,757,374
- 610,000
hag 2,000,000
bl 996, 964
& 1,518,892
Al 16,109,932
AMegss = 10,947,788 7,130,414 3,817,374
o 610,000
Il 688,964
[ 1,432,892
Al 8,215,932
WDE S L MEBIHS 243 XA 73,100 76,300 3,200
201 L2 b 42,100 43,100 A1,000
01 AL 22l 42,100 43,100 A 1,000
O M|Hs S 822 M= 15,000
O AZX0HE P& 10,000
O 2= MSHs £ 422 Y 7,900
O Zadg 20E 7Y S 1,500
O NREE 3¢ S 7,700
202 04 Hl 16,000 16,000 0
01 204 16,000 16,000 0
O MBS 2 =0t 16,000
203 & 2= X b 6,000 8,100 A2,100
03 Al =R Q 2 =X Yl 6,000 8,100 2,100
O MEWs 2a Yexay 6,000
301 PN 9,000 9,100 A 100
09 B AFAIHIXI & 2 9,000 9,100 A 100
O H2HA S AEHASUE L4 9,000
ZAMO22HO2IED 3 880,000 880,000 0
[ 100,000
Al 780,000
201 LBt A H| 280,000 280,000 0
01 Ak 22l 280,000 280,000 0
O ZAMOZZX0IIENS EHE 280,000
307 BI2t0| & 600,000 600,000 0
[ 100,000
Al 500,000




R s R SE=an);
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& Ms2dst =8 CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 600,000 600,000 0
O ZAtMetS=HOotetEUH S 600,000
= 100,000
Al 500,000
SAl d=sME203 900,000 740,000 160,000
< 150,000
Al 750,000
307 21201 A 900,000 740,000 160,000
< 150,000
Al 750,000
02 LAFAAFEX 900,000 740,000 160,000
O 24t dIFM=2Us(=51) 900,000
< 150,000
Al 750,000
TAMMESE =020t EN 2 220,000 220,000 0
< 120,000
Al 100,000
307 21201 A 220,000 220,000 0
< 120,000
Al 100,000
02 It S AHE L 220,000 220,000 0
O Z4HMelEg A ZeletelitetEH s 220,000
< 120,000
Al 100,000
TAMESEHQZEZ IS 220,000 200,000 20,000
< 60,000
Al 160,000
307 glz2tol & 220,000 200,000 20,000
= 60,000
Al 160,000
02 It M AHE X 220,000 200,000 20,000
O ZAHMBHSHE S HE I3 & 0| 220,000
< 60,000
Al 160,000
Z2ZIIHEX& 223,500 196,000 27,500
307 21201 A 223,500 196,000 27,500
02 QAFAAFEE 223,500 196,000 27,500
O ZE2FD| 2z X 223,500
DALES IS 120,000 100,000 20,000
< 20,000
Al 100,000
307 21201 A 120,000 100,000 20,000
< 20,000
Al 100,000
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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 120,000 100,000 20,000
O ZULESZHS 120,000
= 20,000
Al 100,000
H=2SZHSIHE XA 80,000 80,000 0
< 10,000
Al 70,000
307 21201 A 80,000 80,000 0
< 10,000
Al 70,000
02 LAFAAFEX 80,000 80,000 0
O &= &M ZZds HeX(=E1) 80,000
< 10,000
Al 70,000
Hd=EHA SO SIOHE X & 220,000 260,000 A 40,000
< 90,000
Al 130,000
307 21201 A 220,000 260,000 A 40,000
< 90,000
Al 130,000
02 It S AHE L 220,000 260,000 A 40,000
O MEr3t =2 BHEZ U3 80,000
< 40,000
Al 40,000
O HEHAT 464 HSH(XS) 140,000
< 50,000
Al 90,000
HIE AU N XA 120,000 150,000 230,000
< 20,000
Al 100,000
307 21201 A 120,000 150,000 230,000
< 20,000
Al 100,000
02 It S AHE L 120,000 150,000 A30,000
O &= 38 g22Ua(=51) 120,000
= 20,000
Al 100,000
=M ¥ d=20U3 HE X2 100,000 0 100,000
401 Al HIZ 201 I 100,000 0 100,000
04 A2t Al & HI 100,000 0 100,000
O 2H - d303 A4 84X 2 2 100,000
d=2X2FFIIUsE 150,000 110,000 40,000
< 30,000
Al 120,000
307 glz2+ol & 150,000 110,000 40,000
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= 30,000
Al 120,000
02 IZtE M AHEE 150,000 110,000 40,000
O d8=2xddAU3 160,000
= 30,000
Al 120,000
HILAAINF0AREWS 70,000 70,000 0
< 20,000
Al 50,000
307 21201 A 70,000 70,000 0
< 20,000
Al 50,000
02 ItFAAFE R 70,000 70,000 0
O dI2==4A0 - A0 22EUHS 70,000
= 20,000
Al 50,000
HdIAZESUH0ILUE 130,000 120,000 10,000
< 30,000
Al 100,000
307 gl & 130,000 120,000 10,000
< 30,000
Al 100,000
02 IZHEHAHE L 130,000 120,000 10,000
O &d8z3AZ=Z220/2 U3 130,000
< 30,000
Al 100,000
HHANHZE XS 50,000 40,000 10,000
< 20,000
Al 30,000
307 21201 A 50,000 40,000 10,000
= 20,000
Al 30,000
02 HAFHAANGFEX 50,000 40,000 10,000
O =AM ZE MU 2 50,000
< 20,000
Al 30,000
ZAACHSHE E=HHERIE T3 30,000 30,000 0
< 15,000
Al 15,000
307 21201 A 30,000 30,000 0
= 15,000
Al 15,000
02 It S AHE L 30,000 30,000 0
O 24 Met3t d2HECIEHS 30,000
< 15,000
Al 15,000
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oo HSE8s £ (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DAMBIEE 220U 3 30,000 30,000 0
< 15,000
Al 15,000
307 gl2tol & 30,000 30,000 0
< 15,000
Al 15,000
02 It HAHE L 30,000 30,000 0
O ZAMEIZH 8320103 30,000
< 15,000
Al 15,000
ZAMOIZI MRELAFTHS 20,000 20,000 0
< 8,000
Al 12,000
307 glz2+0l & 20,000 20,000 0
< 8,000
Al 12,000
02 HAHFHAANGEEE 20,000 20,000 0
O ZUMESI d=2323 020 a 20,000
< 8,000
Al 12,000
XS s =X & 406,800 388,600 18,200
< 83,000
Al 323,800
307 21201 A 406,800 388,600 18,200
< 83,000
Al 323,800
02 It S AMHEL 406,800 388,600 18,200
O M38z d=XNMEMHAMESU JHH 50,000
= 10,000
Al 40,000
O ZAHAI ZOoHe! &H0ts M= 30,000
< 15,000
Al 15,000
O ZoHed=Hal izl & sd8X& 22,000
< 5,000
Al 17,000
O g33) ¥2 =& oF72U3 9,000
= 5,000
Al 4,000
O LSE=I*+28 R4E=572U3 12,000
< 5,000
Al 7,000
O ZAHAMCHSHE A= A3 10,000
= 5,000
Al 5,000
O HM153 ZLHMeHZH == 3 17,000
< 10,000
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2AM: MsXs
HH: RS
& Ms2dst =8 CEE-ED
(o
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
O LBtMEH s X & At 204,624
J| 102,312
Al 102,312
SAdE MEHYSISA HXI(EB2sXd) 29,232 0 29,232
J| 14,616
Al 14,616
307 2I2t0| & 29,232 0 29,232
J| 14,616
Al 14,616
02 Q2B AMAIE E =X 29,232 0 29,232
O SAUMEANSAEZNHIAIY S2SAS 29,232
9] 14,616
Al 14,616
HEAMEYNSANESA X (BSXH) 204,624 204,624 0
Il 102,312
Al 102,312
307 212t0| ™ 204,624 204,624 0]
J| 102,312
Al 102,312
02 DIZtEAAIE E X 204,624 204,624 0
O eaNg M XXt 204,624
J| 102,312
Al 102,312
ZO0He MESAZA BHXI ALY 177,848 116,928 60,920
J| 88,924
Al 88,924
307 2iz2to| A 177,848 116,928 60,920
J| 88,924
Al 88,924
02 QIZ2IA AAIE E X 177,848 116,928 60,920
O Zofel MstMFX =X XA 177,848
9] 88,924
Al 88,924
MEHE 2R A 38,500 38,500 0
& 11,550
Al 26,950
307 QI2t0| ™ 38,500 38,500 0
= 11,550
Al 26,950
02 QI2tAAMAIE E =X 38,500 38,500 0
O Mg Z2EXNEXN = 38,500
= 11,550
Al 26,950
MEHENY 24 43,874 43,874 0
= 13,162
Al 30,712
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307 glz2tol & 43,874 43,874 0
< 13,162
Al 30,712
02 PIZHEHAHE L 43,874 43,874 0
O daisus 29 43,874
< 13,162
Al 30,712
FAE EFwA 29 10,140 10, 140 0
< 3,020
Al 7,120
307 glz2+ol & 10,140 10, 140 0
< 3,020
Al 7,120
02 YAFHAANFEE 10,140 10, 140 0
O mad=s7ud 2g 10,140
< 3,020
Al 7,120
MeEXs ss2ell 29 75,033 75,033 0
< 22,560
Al 52,473
307 21201 A 75,033 75,033 0
< 22,560
Al 52,473
02 SIZtE S ALHE L 75,033 75,033 0
O MEtlssso F221(88X) 75,033
< 22,560
Al 52,473
dECONSUHE &K 204,300 196,000 8,300
307 g1zl & 204,300 196,000 8,300
02 It HAMHEE 204,300 196,000 8,300
O d=C0MSUHEFHIXH 204,300
MEXs ss0el Fs2d XA 10,000 10,000 0
307 glz2+ol & 10,000 10,000 0
02 HAFHAANFEE 10,000 10,000 0
O dEd=s szl 2s2d I E 10,000
s HddEdsUs ZFHXA 8,000 8,060 260
307 21201 A 8,000 8,060 260
02 LAFAAFEX 8,000 8,060 260
O &= HddEx=siz XS 8,000
ZAMAE MEsUE:H 15,800 12,000 3,800
307 gl2tol & 15,800 12,000 3,800
02 IZtE S AHE L 15,800 12,000 3,800
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02 QIZ2IA AAIE E X 5,000 10,000 A5,000
O Iazssd32dg 5,000
03 QIZEY P ESIHIEX 276,600 264,000 12,600
O ZAAIHM=ES 29X 276,600
M= XA 194,500 178,680 15,820
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O HojoMedsdt & 14,100
O ZAAIZOHCIHSSI KNSR A (2=
Hl) 17,900
03 QI HEESIHEX 118,000 114,000 4,000
O &M=z =2d 118,000
AZX2AE0SH X2 476,000 339,200 136,800
J| 333,200
= 71,400
Al 71,400
301 et M= 476,000 339,200 136,800
J| 333,200
o= 71,400
Al 71,400
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J| 333,200
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Jl 47,600
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Al 10,200
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SN HSXED
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ool MSELE =X CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 15,000 10,000 5,000
02 PIZHEHAHEE 15,000 10,000 5,000
O AXZ=x 28Xz A20a 2% 15,000
MEESAd2 723,467 116,720 606,747
101 @124 dl 43,467 86,720 A43,253
4 DIt Z2XREES 43,467 86,720 A 43,253
O UalHza 3N fidzel g2y 43,467
206 = Hl 30,000 30,000 0
01 MHZ 4l 30,000 30,000 0
O ex&C0 22 2 SAM 7 S 30,000
401 Al HIZ 201 I 650,000 0 650,000
01 A& HI 650,000 0 650,000
O eZgEz sHEE XA 630,000
O &E2, 44H s7Uza HHl OtFHSE 4 d
= 20,000
dINLAZHA 2,278,000 0 2,278,000
= 610,000
< 500,000
Al 1,168,000
101 @124 dl 38,000 0 38,000
4 D12t ZE2XREES 38,000 0 38,000
O 8L ALIHAE 2F oAt 38,000
201 Let24d| 1,035,000 0 1,035,000
< 500,000
Al 535,000
01 At 22/l 35,000 0 35,000
O dIfLAZZHAEE HRFA 35,000
03 & Ar2 I 1,000,000 0 1,000,000
O d=oflYAEZ=HAE F& 1,000,000
< 500,000
Al 500,000
202 4Hl 5,000 0 5,000
01 S LHOIYI 5,000 0 5,000
O MIHYAZZHA AL =& 5,000
307 glz2tol & 700,000 0 700,000
= 610,000
Al 90,000
04 QIZFHALAIH E = 700,000 0 700,000
O dIfLAZZHAE BII2d XN 700,000
= 610,000
Al 90,000




2H: MSAED
g s
& Ms2dst =8 (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
TAIEHI &R 500,000 0 500,000
04 A2t Al &I 500,000 0 500,000
O MIHLAZIHAE BAFE AL 500,000
SIEEAZXZ2Y 29 & 40,000 0 40,000
307 eIzl & 40,000 0 40,000
02 It M AHEE 40,000 0 40,000
O s=4AZx32Y 22 XN (ZHEEXLY) 20,000
O 2eatold AX=28 29 NI (SUAFX
) 20,000
S OLAIOIEHE 2 OtAEZE U & 336,000 0 336,000
308 XtXIEHH SOl A 336,000 0 336,000
07 X SHH2L RS S 336,000 0 336,000
O &= OtAIOH EHE 2 DtAHZUE Al 2
= 336,000
MsolZet = 10,288,000 5,348,000 4,940,000
as 2,000,000
J| 308,000
< 86,000
Al 7,894,000
SSHSAE QEet2= 682,000 1,031,000 A 349,000
401 Al HIZ 2018 652,000 1,031,000 A 379,000
01 A& HI 650,000 1,029,000 A 379,000
O A2t E3F 0f2 X8 S FIt 8 200,000
O L3 S FXUHE SEHIAM 150,000
O HLYZA == HMISAME FHUAY 200,000
O HMES33 2 AUYEHSAE E= 100,000
03 AlE 2 THHI 2,000 2,000 0
O MEIEANL g2 =& 2,000
405 TtabF S| 30,000 0 30,000
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